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Dimensions ... ty := 5-mm ...and ... ty = 5-mm
Ll = 50-mm
Let ... X}, i= 20-mm ... length along beam
L(x) =t +x

Let.. L.:= L(xb) L, =25mm



Lengths ... s; =Ly -t s} =45mm
sp:=Ly - 0.5~t2 Sy = 47.5 mm
§3 = Ll + 05(t1 - tz) 83 = 50 mm
sg= L) + Ly = 05(t; + 1) 54 =70mm
¥s(2) = |Ly if 0mm<z<t,
0-mm otherwise
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Aq = J y(2) dz Aq =350.000 mm2
0
1 - 1 —_ 2
AS.— (Ll —tz)tl + thz AS—350mm

L YS(Z)
Ayg = J J ydydz Ay, =2125.00 mm3
0 0
AyS
Ybar == T Ypar = 6-071 mm

S

1

Vg = Ay =6.071mm
L YS(Z)
Azg = J J zdydz Azg = 6500 mm3
0 0
Azg
Zpoar = T Zpor = 18.571 mm
Ag

o (L1 - t2)~tl~(Ll + t2) + Lx-tz2

s 2(L) -~ )ty + Loty Az =18.571 mm



¥y(z,8) = |if s <5y

0-mm if z<L| —s

t; otherwise

if (51 <s<s))

0-mm if z <ty - 2.(s _ Sl)

ty - [tz _ 2.(S _ Sl)]
2(s=s1)

t; otherwise

if (s2 <sSs3)

2'(5 - 52) + |:tl - 2(S - Sz):lé if z< tz

if t2—2~(s—sl)£z<t2

tq otherwise

otherwise
s—s3+ty if z<ty

t; otherwise
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Ly ~y4(z,5)
4[ (y - ybar) dydz

Ay(s) := J

0 "0
= 0.5 =51.071 A =-895.727 3
sy = Ypar — 03t + 59 sy— . mm y(sy) =-3895. mm
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Ly

Az(s) = J

0 "0

¥s(Z:8)
4[ (Z - Zbar) dydz

s, = L] = zpy s, =31.429 mm Azs,) = 2469.388 mm’
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